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9.a. Possible answer: —2.25 < 2; -2.25 is to
the left of 2 on the number line, so
-2251s less than 2.

b. Yes; Possible answer: 2 > 2.25
Rubric
a. 1 point for correct inequality;
1 point for explanation
b. 1 point for correct answer;
1 point for inequality
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6.NS.7a

SELECTED RESPONSE Seloct all correct answers.

Select the correct answer. 5. Which statements are equivalent to the
1. 1f-3>~7 and 1 > -7, where are -3 and 2

1 relative to ~7 on a number line?
@ -3and 1 are both o the right of 7.
(B> -3 and 1 are both to the left of ~7.
(© -3is to the right of =7 and 1 is to the
left of -7.
(@ -3is to the left of -7 and 1 s to the
right of 7.
4.3 1.3 41

2.1 3>5 and S<z, where are = and 5

relative to % on a number line?

[0y} g and % are both to the right of %
1

® g and 2 are both to the left of %

)
©3

3
the left of =

islnmenghlof%,anﬂ % isto

4

P 3 1.
@ 3 istothe leftof . and 7 istothe

inequality ~2.5 <2
inequality 2.5.< 1=

@—Zﬁlsmmeleﬂol% ona

number line.

® % is to the right of 2.5 on a

number fine.
© % is to the left of 2.5 on a

number line.

(D) -2.5is less than %

@—zsusmmengmm% ona

number fine.
8
@ B -25

8
@ E)—.Zﬁ

o 8
@ g isless than 25
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3. Anumber x is to the left of 10.2 on a
number line. Which inequality describes
this situation?

@A x>102
® x<102
@© -102<x
@ x<-10.2
4. On a number line, a number p s to the

right of 18. Which of the following choices
describes this situation?

@A 18>p ©p<-18
®-18>p @p>18

CONSTRUCTED RESPONSE
6. Describe the positions of 10 and 17
relative to each other on a number line in
two different ways, given that 17 > 10.

7.0.001 < x and x < 10,000. Is x between
0.001 and 10,000, to the left of 0.001, or
to the right of 10,000? Explain your
reasoning.
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8. Look at the following inequalities. 10. Matthias says that the inequality 1>-2.2
7 7 7 s true because 1 is to the right of ~2.2 on
1,000,000> 72, 0< 2. 22> 7, a number line. Helga says that the

inequality is true because 2.2 is to the
left of 1 on a number line. Who is correct?
Explain your answer by graphing 1 and
2.2 0n a number line and interpreting
the result

a. Which of the numbers above are to

the right of 27—3 on a number line?

b. Which of the numbers above are to

7
the left of 5= on a number

11. Consider the inequality =5.5 < —4.

a. Graph the two numbers on a
number line.

9. Consider the three points on the
B e e

number line. ~10-9 -8 7 -6 -5 4 -3 -2 -1 0
225 015 2

B e e b. Describe the positions of -5.5 and
5 §-1-050 05115 2 25 4 relative to each other on a number
line in two different ways

a. Pick any two of the points and write
an inequality statement. Explain your
answer using the positions of the two
numbers relative to each other on the
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number line.

c. Write an inequality using -5.5 and a
number to the left of ~5.5 on the
number line.

d. Wite an inequality using ~4 and a

b. Could the relationship between the number to the right of ~4 on the
two numbers you chose be number line.
represented in a different way? If so,

write the inequality.
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1.A

2.c

3.B

4.D

5.A,B,D,G

6.10 s to the left of 17 on a number line.
17 is to the right of 10 on a number line.

Rubric
1 point for each answer

7. xis between 0.001 and 10,000. Since
0.001 <, xs to the right of 0.001 on a
number line. Since x < 10,000, X is to the.
left of 10,000. Since x s to the right of
0.001 and to the left of 10,000, x is
between the two numbers.

Rubric
1 point for answer; 2 points for
explanation
141
8.a. 5 45, 22 and 1,000,000
18
b.~1,000, ~75. 0,and 0.2
Rubric

a. 0.5 point per number
b. 0.5 point per number

10. They are both correct. As shown on
the number line, 1 s to the right of ~2.2. It
is also correct to say that -2.2 is to the
left of 1
22 1
B L

Rubri
1 point for the answer;
1 point for the explanation;
1 point for each graphed number
1.a
-55 4
e
~10-9-8-7 6 5 4 -3 2 -1 0
b. =5.5s to the left of ~4; ~4 s to the
right of =5.5.
c. Possible answer: -6 <-5.5
d. Possible answer: ~4 <3
Rubri
a. 0.5 point for each graphed number
b. 0.5 point for each description
c. 1 point
d. 1 point





